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212 AI2B 4 5,355,352 4,120,852 1,234,500
212-09 JIEIAIB 2 5,355,352 4,120,852 1,234,500
12ZMOIERIZ AIBE 10,000 5,000 OA&E i €= BJt
1ZAMO0IERIS =8& 110,000 100,000 Ozst2d =24 St
)23 2A0EHRB2t 22 2,352 2,352
IggzesunAs oz ee ses
=
1) SYSRIHMSHE AISE 378,000 325,000
1)0IRALHERIEE AlE2 610,000 520,000
)OS ZZHME AISE2 1,662,000 1,157,000
1)IIAY I=HE AlR2 289,000 260,000
N=BAMOSHISH A2 38,000 27,300
N2UUSHYSD AR 36,000 26,000
1)%g—%lj¢mu%&xﬂ%% 47,000 33.800
NINCSEHSZ AIRE 40,000 28,600
NEEUSHYSD AR 20,000 20,000
NZANSERE AIE2 140,000 120,000
220 LAIEAIIS 2,372,870 3,700 2,369,170
224 J|EFL 2,372,870 3,700 2,369,170
224-07 121242 2,372,870 3,700 2,369,170
NIEIC AR 22 S 3,000 3,000
1 )%g#&frml%’g&ga 700 700
Do mara
N2HOIERIS BEE 49 S 15,000 0 DrTEn aees
1)%{@—;%@53&@3% 2 354,170 0 Og[lé Efl 240l
230 XL - U2 20,000 40,000 A20,000
231 WHE2 20,000 40,000 20,000
231-01 &3 20,000 40,000 A20,000| ORIE 24 24
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20249 ESHHISIt ME0dt HE

(0| &l P310~324, MFAIHAHAM P183~248)

= _ E] _ =
2. G9|(B1H) - HIRAKY - BaS 0 bt Ghe | HDs BE(SY) AR e

18,315,870 18,219,788 96,082
= 1,353,998 1,109,662
Al 758,670 474,001
T 16,28,27| 16,636,125

4,378,325 4,477,869 299,544
Al 44,250 44,250
- 4,334,075 4,433,619

Al 2 0,9%,943| 3,051,871| ~112,928
N 44,250 44,250
2 2.894.68| 3,007,621
si=uen 2o 875,050 916,416 41,357 187~188
201 B2 1,000 1,000 0
01 AfRz2lH] 1,000 1,000 0
1o E2n 22928 LT 700 700
oiEuen eyny 22 10 300 300
203 YPEAL| 1,890 1,980 A0
03 AREHAS=TY| 1,890 1,980 A0
ol ES2n A=K 1,890 1,980
307 SI2H0IH 812,169|  783.436| 28,733
05 oRiPEr 812,160|  783,436|  28,733|Osz Anz vy @
ez Setey 812,169| 783,43 ?;E%é%j)gﬁ
2)0I21H| 49,216 452,423 oISl 2o
o)meI2| 205,773| 217,623 o(jgllsi?og%i)@ Sson
BRI 110, 180 113,390 (£3,2108%1)
401 AEHI L2 OHY| 60,000 130,000|  A70,000
Al 60,000 130,000  A70,000 | OREE CHHI AKSZAM 24

So|E oy BEHIX U M
STEShY = 60,000 130,000
AMBE0|E2 2 844,990  912,877| ~67,887 189~190
asr2 | 1,000 45,000 44,000
[ el , : A40, _
1000 41,000 000 cammpnz: 1e stece
NEWIE0IS2 SSAVS Aary 700 700 M=Hl o S24l 08y
NEWFEDISR S22 SZ70) 300 300
203 YRET| 1,890 1,620 270
BETYDEAY| 1,890 1,620 270
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
NANZES2 Q258 1,890 1,620
307 BI2H0|H 802,100| 796,257 5,843
05 BIZteiEta 802,100| 796,257 5,843| 052 ALE vt Q
NAWNH L0 22 =2y 802,100 796,257 E{gii 13 9:2 el
2)012148| 468,288| 423,247 Om2l2g| 2o
o)zRI2YY| 197,104 232,060 O(jf;giﬁfsg%ig Sson
2)JIETAl S 136.708| 140,950 (74,2425 2)
401 AIEHI LSO 40,000 50,000|  A10,000
01 Al 40,000 50,000 ~10,000 | ORAST Tl ALSRAM] 244
NZWDL0IST A2 HS 24 ZAF 40,000 50,000
Koo AE29E 2 23,000 75,000  A52,000 | OAISHI(ZSZ Jd|) DR | 191~192
201 ety 23,000 25,000)  £2,000
01 AlRE2lH| 10,000 10,000 0
NAERIYY B4 HA S pRlSA 5,740 7,300
et 3000 0 SN0t T A
1)SIZEI0HR RS B0 R 210 0
2 222y 13,000 15.000]  £2,000
AE2IHE B4 22D 3,000 3,000
AERlgE HA ME Q XN W S 10,000 12,000
2512 2 213,976 110,750 103,226 193~194
Al 44,250 44,250
2 169,726 66,500
307 Q10| 213.97%6| 110,750 103,226
Al 44,250 44,250
2 169,726 66,500
02 QIZFAAAIBE 29,000 29,000 0
NEEEISEESE! 29,000 29,000
Al 21,750 21,750
27,20 7,250
038 DIACHYESAHEE 141,776 0,000] 111,776
1238 DT "E ol 141,776 30,000 OAR2 =gl (22) &2
Al 22,500 22,500
2 119,278 7,500
04 BIZFALAIRIEIE 40,000 47.7%|  ~7,750
1AW 0ISHA 40,000 47,750
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
05 oIAtEta 3,200 4,000 A800
N2SAlE 22K B YT 3,200 4,000
AMNOIERIS 2% 940,068 907,148 32,920 195~1%
201 sr2o| 27,500 50,700  ~A23,200
OSBHHIE| OIAIHIZ 2 01F
oD}
01 AlR2elt] 10,100 10,700 2800 | g 0 D)
NZMOIERIS 2Y9REl AR 4G 700 700
2A0IEZ|IS BIY 24
NBHOIZ2US BIA 5,500 0 ORMOIERIS BIfLES,
NZMOIERIS gz == 300 0 Seipet S, 2ot
_ 20 Al B
NZMSSIHE 2o Z| 3,600 0
2 ===l 17,400 O 17.400| O=siAle Sstzzl ZHOIX|
AN SSAIE SERI2INAL SX Al HA
LS 15,000 0 OJIE LNSSHIE ZIS
NZASEME TIIQ2 S 2,400 0 Figt A2s B
203 AREZIY| 1,890 2,700 A810
0B AMEZAREZY| 1,890 2,700 A810
NLAOIERIE 2Y HURFA 1,890 2,700
01 UBrEEZ 17,230 300 16,930
0 Asl=eempAz 17,230 0 17,230
Oo0lERIE 2% XY
==}
Nss 14,400 0 ABI=209 ol2iy|(121)
12l 1,764 0
1) DEY| 756 0
1)II=yl 310 0
307 BIZHOIH 893, 448 753,448| 140,000
05 DiolEiz 893, 448 753,448| 140,000
ORPUsR| CI2 0P| 21k
NZMOIERIS Seey 893,448 753,448 -
) =7 (104, BE2)
2)Q124| 460,775 485,703 O == =ES T il e=11]
o)meI2 | 196,173 141,445 MERRISRH| 2254, 7B52)
2)JE2o W TROUSAY| 128,500 54,300 OV BIE0! E S AR
OrFRE JHS( 256, (0Ri)
2)UAIR 108,000 72,000
o OFEEZI KAZAR
grsl 2 XD 2 < 197~198
o5 SIS HRD 2 18,000 w00 algo|EZE5E 1T
201 sr2o| 18,000 18,000 0
01 AFR2elt] 2,400 2 400 0
NesHEERT 2gsE A0y 2,400 2,400
o zzegl 15,600 15,600 0
)BBR2 2 MAZL2 15,600 15,600
_ O£ 0IBA A80,000
o 2o ! : 199-200
E=CEBIEIRS 23,850 9,201 A75,350) 703 =oimoioaH
201 sreo| 23,850 19,200 4,650
01 AlR2elt] 2,050 3,000 950
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
1012234l 2123 gdag 840 0 CESEOR| SIRA5| BiACH
1)0F=2812| Y28l ot 210 0 QU FADE HIS AABA
)02 22 2 B8 S 1,000 3,000 O%@ﬁgj;j;(&fz’%w%)

R 22| 19,800 12,200 7,600 O2t2| AlEE =0t
oi=ese 22.2 7,800 7,200
ez Tee 2A B 2,000 0
NOIEEs2 &2 S +H8T 10,000 5,000
03 SALREH 2,000 4,000) 22,000 | OPTHEORION (2 2oyt
NoEesE S ALY 2,000 4,000
Nei2siols 23 1,439,382| 1,425,998 13,384
XS 2stol=HXI 444,428 432,528 11,900 201~202
201 Lerey| 34,704 34,704 0
01 ALl 704 704 0
NADE 20f 512 500
1)AIE 2 AT 20 192 204
03 A2 34,000 34,000 0
NOISE Al 2 S 4,000 4,000
1) 2N 2SS HAEIZ A 30,000 30,000
203 QREFY| 90 1,000 A100
03 AlMZEFQIDEZY| 900 1,000 A100
1) XSS SN Y LPEX 900 1,000
01 LeHEET 312.824| 312,824 0
2 ool 2SRSEAR 312.824| 312,824 0
UM TSR 2 111,040 111,040
NLMTE3E 29 201,784 201,784
307 Q1240/H 9,000 81,000 15,000
04 QIZFAAIEE 9,000 81,000 15,000 | OZ IO SEH X1 ST
1) 25H0|Z EHI X 2 9,000 81,000
G 286, 3% 272,920 13,474 203~204
201 Leret| 209,660 195,160 14,500
01 ALl 28,000 15,000 13,000
1) SsHAL Hxl 2 28 7L 2,000 2,000
1)H3E AlLS MEIZAL 26,000 13,000
R 22| 3,660 3,660 0
1)e-JRISH gz 3,660 3,660
03 AR 178,000 176,500 1,500
1)E2 L A2 20,000 24,000
)Rzl £ X2 20,000 21,500
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
1)2tE D82 £ 40,000 45,000
)23 2otz 13,000 13,000
1)H2l BAZ 2o S 45,000 45,000
YRl Sot3(7 F2IF01) 40,000 28,000
BT 9,234 10,260 1,06
HETADEZIY| 9,234 10,260 1,0
2%z ZoIYR ZX 9,234 10,260
UptIED 8,000 8,000 0
N 7,000 7,000 0
)25 252 ST MRS 7,000 7,000
14 JIEHAR 1,000 1,000 0
NAZ 2o 2E wolwE 000 o0
307 IZHO|H 59,500 59,500 0
M DA EE 59,500 59,500 0
DESEENNS 23,000 23,000
DE==PIIPEFSP 6,500 6,500
1058 R& 2AE 30,000 30,000
91,910| 166,900 A74,990 205~206
3,000 3,000 0
3,000 3,000 0
29 2| 3,000 3,000
8,910 9,900 £990
= x| 8,910 9,900 £990
Mot BH Y 2BBA EX 8,910 9,900
0I2H0| A 80,000|  154,000] A74,000
QIZFHAIAIIE 80,000 154,000 474,000 O WHEEL0I
1) XHS LA 80,000 154,000 QEM
sz =H| 380,250  395,250|  A15,000| OTUEORION TS 2ekmAl | 207-208
201 Leresy| 75,250 80.250|  A5,000
01 Al 5,250 5,250 0
NEHMAZS 218 =& 5,250 5,250
03 AR 70,000 75,000 45,000
DECER = 70,000 75,000
01 YeHEAS 5,000 5,000 0
11 AT 5,000 5,000 0
1)Z0IT A2 5,000 5,000
307 2IZHO|H 300,000]  310,000] A10,000
04 DIZBAARIEE 300,000]  310,000]  A10,000
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy B (B2 Ml
1) DA AL 300,000{ 310,000
OOl = 35,000 37,000 A2,000 209~210
201 2| 32,000 34,000 A2,000
03 EA2HHI 32,000 34,000 A2,000 | O7HEZAN 2 &
NRUEX, 28, =¥ S 32,000 34,000
301 LeE&EZ 3,000 3,000 0
11 AR 3,000 3,000 0
DELPOETE 3,000 3,000
AT S T 66,400 71,400| 25,000 211212
201 Yk 6,400 6,400 0
01 Ar=2teltl 3,400 3,400 0
DATSSUSH AR AR+ 1,400 1,400
NEMSHUSH ELSE 70§ = 2,000 2,000
03 A2 3,000 3,000 0
1AL AIE&H Rtz 3,000 3,000
307 2120 60,000 65,000 A5,000
04 QIZIHAIAIE SR 60,000 65,000 25,000 | O7HEAN| 2
1)8t= S SS0I==HA 60,000 65,000
0= 23t Hel Al 35,000 50,000{ 15,000 213
201 Yty 35,000 45,000|  £10,000
03 SHA2ZH| 35,000 45,000 210,000 | OPMENA [
)28 U #A2SSH| 35,000 45,000
0=z < 201 sH 100,000 0 100,000 214-215
201 LEr2gH| 100,000 0 100,000
03 A=2ZHI 100,000 0 100,000
1)2% HAEIOISH 22 =H) 40,000 0
1) HAEHSEA A= =H) 40,000 0
1EES0IEH (7 F0IE0) 20,000 0 ORI A AFEY
NERS E& L &S 699,480 183,480 516,000
= 306,500 71,000
Al 206,750 51,500
- 186,230 60,980
=t &l 699,480 183,480 516,000
2 306,500 71,000
Al 206,750 51,500
- 186,230 60,980
HEZSNEEE 63,480 9,480 54,000 216~217
Al 42,000 0
- 21,480 9,480
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
201 UsreNy| 3,480 9,480|  £6,000
01 ArRz2lH] 1,680 7,680 6,000 | OFHIOZ0I [HE =SHH
o U P2 S IR,
N2 N2 1,680 1,680 HSSII0IE FAI~2IH
=l
02 =2zl 1,800 1,800 0
NEE230IY 2BRS L sz 1,800 1,800
401 AlEHIZ 2] 60,000 0 60,000
Al 42,000 0
2 18,000 0
01 Al&H] 60,000 0 60,000 2 A| NRDBITH B
NAXIZSS 24 60,000 0 te &3
Al 42,000 0
T 18,000 0
HAANTHESSTAITH (23T 22) 215,000 160,000 55,000 218~219
2 96,000 64,000
Al 59,500 48,000
T 59,500 48,000
307 QI2H0IH 215,000 160,000 55,000
2 96,000 64,000
Al 59,500 48,000
T 59,500 48,000
05 Ol2telEra 215,000 160,000 55,000
NEDAY 25 22AIY 115,000 117,500 ORI UE Z2AIY A
2 46,000 47,000
Al 34,500 35,250
T 34,500 35,250
NESZEN 243 X 100,000 42,500 OB UE Z2AIY A
2 50,000 17,000
Al 25,000 12,750
I 25,000 12,750
HSAE 24 HY| 400,000 0 400,000 220~221
2 200,000 0
Al 100,000 0
2 100,000 0
402 RIZFKHE0|H 400,000 0| 400,000
2 200,000 0
Al 100,000 0
2 100,000 0
02 QIIRHEARIBZE(0IRHE) 400,000 0|  400,000| O2BWE Z2AIY S
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
2)MEI| YRE 1,000
OsH=S ¢
oo|AHAH|2AH
2 zT2YH| 2,160 3,90  A1,800
OFIIZ 2o & 01y
1)2A G2 AAFAIRZ D2 1,560 1,200 2oy SH= HA
1)5l0H| 2t2etE &Il 240 2,400
DERZZOHHAIR B2 360 360
AL OJ|E ABIENHZYYI
03 SAFRZH 2,000 5,000 ~3,000| OZE 5
(2 5,000&2!)
N2AANHAE 20| BRESRA 29 2,000 5,000 Oz2adstE et
' ' ABERRA 2 MM
(= 2.000&2!)
203 ARETY| 2,673 2,970 297
03 AlRMEZAREZY| 2,673 2,970 297
1 X|= al A AAH 2M =
301 LB 5,000 3,000 2,000
14 JIErEAR 5,000 3,000 2,000 OJIZE 227 Y AgE=0)
- 27| 2N 0ES(23,000%R)
NEABREI|IGE 5,000 3,000 OB 22
D)ASEE0 2 J|EB M 5,000 B1(S 5,000& %)
- 02| 22 0B
AN2E=0 2% A10, : 026227
NE23tE0] 59,500 70,000 10,500| " 3,7 Sooms)
201 Yer2 | 20,000 27.500(  A7.500
01 Arateldl 20,000 27,500  A7,500| OMA MABIE 22
(2 6,000&2!)
1)R2IDE BSRI| R M 20,000 27,500 O=JI=2S8 0=
(2 1,500&2!)
307 BI2H0IM 39,500 39,500 0
05 QIAPIED 39,500 39,500 0
NENSSE0 29 39,500 39,500
SOIRBHLA SY(REAI) 54,458 56,820  £2,362 228229
Al 25,000 25,000
229,458 31,820
201 Ypreg| 3,000 52000 22,200
01 A2l 2,000 42000 £2,200
DEHA0l Us 2N EH0| 013 O=22 UR+E =Y
STE AS 1o =00 (2 1,00022)
D0l U= 2N EH0| 018 2 O2% AREY| 2o
A2% i 1000 2.200 (2 1,20082)
° =29l 1,000 1,000 0
)2SI2BHLAL Ao) BEE S 1,000 1,000
203 HRE=ZIY| 1,458 1,620 A162
03 AlMEZLRENY| 1,458 1,620 A162
aHAD O|-= D} CCH SH LA
1)%11_;0&_&;%?4 E20| 01 2 1458 1620
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S - FHE - GRI(3]) - KISA - il ko Sae | vmsy B (B2 Ml
Ypre 50,000 50,000 0
Al 25,000 25,000
- 25,000 25,000
14 JIEIEA 50,000 50,000 0
1) 2323 50,000 50,000
Al 25,000 25,000
- 25,000 25,000
AME SEBUY sS4 17,700 16,200 1,500
FEUY |4 17,700 16,200 1,500 230~231
201 Let2IH| 17,700 16,200 1,500
01 ArRZteltl 16,500 15,000 1,500
esoey DSUK X 1,500 3,000 Ogﬁgja{“fﬁgg&
RS2 WS 2,000 2,000
osgiYe e
EWNAS HIl SUT KR 13,000 10,000 AXtE SO ME
Zo(= 3,000%8)
2 ZT2H| 1,200 1,200 0
ngseHe 25 e 3 SuE 1 200 a0
MGt MES AN 12,975,004 | 13,068, 141 AN93,137
= 1,047,493 1,038,662
Al 482,670| 353,251
-+ 11,444,841 11,676,228
MEX =2 A S 2,755,105 2,622,844 132,261
= 1,047,493 1,038,662
Al 482,670 353,251
- 1,224,942 1,230,931
ErE 1,438,223| 1,349,444 88,779 232-234
= 361,213 352,382
Al 305,610 176, 191
- 771,400 820,871
U2 HH| 20,150 23,900 A3,750
AR 13,150 15,900 A2,750
1)E50 % 10,000 10,000
I EEECEIE == 3,150 3,900
03 ARSI 7,000 8.000|  A1,000
NHEANEE S 70 7,000 8,000
203 YR=ZIH| 5,184 5,760 Ab76
03 AIHFRHRFAIL| 5,184 5,760 Ab76
DAITES HISHA L HTEST 242 5, 184 5,760
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% < = =
SA - B O9I(B1) - KIRAIY - BAS 0l b0t She | Hms BA(E2) AR S Ehe
307 QI2H0I 1,412,889 1,319,784| 93,105
2 %1213 352,382
Al 305,610 178,191
2 746,08 791,211
0 LIZEAAREE 269,400| 279,400 10,000
1)IBIEIFH(D1) A KIR(BES) 70,000 70,000
1)AIZDICHE &TF X2 14,400 14,400
1)71E} CH3l Wzl L&D X 42,000 52,000
NANPHSE BE 84 N 87,000 87,000
NYLIENS S& X 22,000 22,000
2F XOHO I M| &3 =249 3| X+
03 BIRIEYESAYEE Ol s
rossaee| o034l 18105 SN L T o xy s 2
NZNTH=S3 228 X 156,860 152,360
NANPENIHSE 22| N 46,140 40,200
ANTHSE KNSR 0121H] %
DA NSE] Nkt el 506,372| 494,108
Q)MEHSKC 2126] X2 (162) 503,312| 491,048
= o51.6%| 245,524
Al 125828 122,762
2 15,88 122762
DNSRE &g X2 3,060 3,060
2 XHOHOI I3 MEHY I o
2 109.57| 106,858
Al 54,778 53,429
2 54,778 53,429
1)HISS MEHSUEK 2 X 125,004 0
Al 125,004 0
04 DIZFBAAIRIEE 90,000|  140,000] 50,000
NP PEE(I) A
S es) 9,000| 140,000
S N ONgl 229 A24S N
olEel" ALHAEIE Mz 110,000 0 110,000 g 5 i mia 235~236
201 LereHy| 10,000 0| 10,000
03 AR 10,000 0| 10,000
iR AU HAEY AREES
N SE L HAEY NuRsE 10,000 0
307 DI2H0I 100,000 0| 100,000
04 DIZBAARIEE 100,000 0| 100,000
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
1) 51ER ALHAEE 22 Xa 100,000 0
MEHSZZOM 2Y 226,482 293,000 266,518 237~238
Al 30,000 30,000
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201 LEH2 | 20,000 70,000 A50,000 | OHMME WA MoK A2t
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Al 6,000 6,000
- 15,600 13,200
NHAFFR WA 2A2 13,200 12,000
Al 8,000 8,000
2 5,200 4,000
NOAR A 2AE 7,200 7,200
307 Q1201 35,750 55,750 220,000
Al 10,000 10,000
- 25,750 45,750
02 CIZHFEMAEEX 35,750 55,750 A20,000 | OAZ= SXIAY &K AR
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Al 800 800
- 9,200 5,550
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- 11,350 15,000
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
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SA - EHB . ESI(3]) - NIRAK - BAS il ko Sae | vmsy BA(2) NS Ml
J|= 2| 84,120 101,448 A17,328 247248
201 LBH2HH| 47,664 48,864 21,200
01 ArR2teltl 47,664 43,864 A1,200 | OFHECAHN [ 2HEy
NMRES L HFY 22 204 10,800 12,000
1)J 2RSS 2| 36,864 36,864
202 i 3,256 48,384 ~16.128
01 =Lhoit 32,25 8,38 AR ozxos an mE
1)J12d R0t 32,256 48,334 o
203 YR=ZH| 4,200 4,200 0
04 SN2ILRFAHI 4,200 4,200 0
1NEASYLRFAL| 4,200 4,200
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02 QIZHEAAH 2 X 62,780 63,010 A230
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Al 280,000 244,644 35,3%
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Al 280,000 244,644 35,3%
- 42,251 52,979 210,728
05 QIZtRI& = 602,251 542,267 59,984
T CAZ H2AIRZE A A X2 602,251 542,267
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Al 280,000 244,644
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01 Al 22l 3,000 3,000 0
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NZAUE0ISSEM P2 900 1,000
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11 HALAHIXIR 3 960 960 0
DXLSAIR #AIAHIEAS 960 960
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01 At=2eld| 800 1,200 2400
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02 3524l 600 600 0
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CSRI(B) - HIRAIR - BAES | oflarod Ghe | umEw | maE) AR | LS
SN2l 24 A 121,695 115.185 6.510 303~304
2 121,695 |3 115,185
EIESST] 120,695 114,185 6.510
2 120,695 | = 114,185
01 AtRztelt] 120,695 114,185 6.510 | O Z2LH9 SA0
_ 2 J=pHS=
I2Hel ZHIX 120,695 114,185 A A% B2
90,695 85,560 =AEES S
2 90,695 | = 85,560
H2Z 2| 20,000 19,504
2 20,000 | = 19,504
Sl 10,000 9,121
=2 10,000 | = 9,121
203 PREA| 1,000 1,000 0
2 1,000 |2 1,000
ME=NHRFEH| 1,000 1,000 0
X2 FFU 1,000 1,000
2 1,000 |2 1,000
HENE A2 290,384 425,324 | A134,940
JlEg FE 290,334 425,324 | A134,940
201 gt 261,760 261,180 580
01 At 261,760 261,180 580
negsg 3,780 3,780
)N YBBINACIG 3,500 3,500
2)J|=22TIIAl3 280 280
N2 A=gody| 3,380 2,800
1)et2sts)| EE W] 1,800 1,800
1)gt28tE)| |24 1,800 1,800
NEQ st ¢ 250,000 250,000
DA el 1,000 1,000
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TS QB Al BY
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i _ _ PS[E] _ =
SA - EB L ORI(BIH) - HISAY - BES [ ol She  |Hms2 | BaE) AR | LS
SHAHSAHH (210D 380,569 390,276 | A9,707
= 51,997 54,220
2 328,572 336,056
ST== 307~308
91,860 114,120 | ~22,260
22
PIEEEL] 91,860 114,120 | £22,260
IH}20d
201 etz 66,180 68.280 | 2,100
01 At 22l 64,980 67,080 | ~A2,100
NIISLRFE Sl 46,080 46,846
NARESE L #™EH A2 20 18,900 21,000
02 s523Hl 1,200 1,200 0
1)ZEX(RI|HOF) ALHT| 1,200 1,200
202 048 20,160 40,320 | ~20,160
01 =LHOILI 20,160 40,320 | ~20,160 |OZ& O
1)1 2220 =™
==TTe 20, 160 40,320 E5H0 2o
203 YR EEH 4,800 4,800 0
M4 EASHLR2F 4,800 4,800 0
1) EASIH2 =] 4,800 4,800
TIAID
303 2= 720 720 0
01 ZA2 720 720 0
1) B2 (2I|HY) SIS 720 720
2) M= ety 160 160
2)MU=5I2 200 200
2)HE, 229 Y J|IEEH| 360 360
REEETT 309~310
288,709 276,156 12,553
= 51,997 54,220
=) 236,712 221,93
REEET] 288,709 276,156 12,553
= 51,997 54,220
=] 236,712 221,93
101 Q12| 257,004 245,214 11,880
2 51,997 54,220
— 205,097 190,994
03 SLR(FIAN =2 X2 257,004 215,214 | 11,880 |OZRE 23, 29
ojoio olate BHAQ 2
1)RIAADHFTOI2Y QI4H)| 257.094 245 214 =ou
2)J1e22 199,400 196,987
2 51,997 54,220
-] 147,403 142,767
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